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2. The scale of amap is 1 cm : 10 miles. The actual distance
between two towns is 4.3 miles. Find the length on the map.
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3. A model train is 9 cm long. The actua?engine is 18 meters long.

What is the scale of the model?
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Ex 1 Inthe diagram, AABC ~ ADEF

a. List all pairs of congruent angles.
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b. Check that the ratios of corresponding sides are equal.
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c. Write the ratios of corresponding sides as a proportion.
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Ex.2  List all pairs of congruent angles for the figures. Then write
the ratios of the corresponding sides in a statement of
proportionality.
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Ex 3 Determine whether the polygons are similar. If they are,
write a similarity statement and find the scale factor of
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Ex. 4 Determine whether the polygons are similar. If they are,
write a similarity statement and find the scale factor.
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Ex 5 In the diagram, AABC ~ AGHJ
Find the value ofx.
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Ex. 6 In the diagram, ADEF ~ AMNP.
Find the value of x. j— - }s
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Ex. 7 A rectangular playground has a length of 25 meters and
width of 15 meters. You are constructing a new
playground with a similar shape that is only 10 meters in

length.
Find the scale factor of the new playground to the original
playground.
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Find the perimeter of both the new and original

playground. 1 5 1%
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